
Anv bihan : ...................................... Deiziad : ............................................................................

AN OPERASIONOÙ
• Jed :

10 – 1 = … 10 – 6 = … 10 – 4 = … 10 – 9 = …

10 + 1 = …… 10 + 6 = …… 10 + 4 = …… 10 + 9 = ……

10 – 5 = … 10 – 2 = … 10 – 10 = … 10 – 8 = …

10 + 5 = …… 10 + 2 = …… 10 + 8 = … 10 + 3 = ……

10 – 7 = … 10 – 5 = … 10 – 0 = …… 10 – 3 = …

10 + 7 = … 10 + 5 = … 10 + 0 = … 10 + 10 = ……

• Sell deus ar skouer ha jed :

            5            6            5 
2 + 3 + 4 = 9 4 + 2 + 1 = … 1 + 4 + 3 = …

                        …                         …                         … 
4 + 4 + 2 = …… 5 + 1 + 3 = … 6 + 0 + 4 = ……

                        …                         …                         … 
3 + 6 + 1 = …… 2 + 4 + 3 = … 3 + 3 + 3 = …

           5            8                      …

4 + … + 5 = …… … + 2 + 1 = … 3 + 2 + … = 10

• Sell deus ar skouer ha jed :

          10                 10           10 
2 + 8 + 4 = 14 4 + 9 + 1 = …… 6 + 4 + 3 = ……

          10           10                 10
6 + 4 + 2 = …… 5 + 5 + 5 = …… 6 + … + 7 = ……

          10                                  ……                     …… 
3 + … + 1 = …… … + 5 + 5 = 18 8 + 2 + … = 13

          10                 10                    ……

1 + … + 9 = …… 6 + … + 7 = …… 3 + 7 + … = 18


	

